B N ERE

1. LEA4
T4 FH L BE Tl X gl iml s e 1
T4 AT R S T R AT Hh S
2. TENE
1)  FHEIT4 fEa L) ERE S ST L8HE—if
2) X I f& SCI N = A
3) T biij 193 H ¥ H 0 64 8H20H
ES aF0 T 2H28H
4)  TEE

ESR S S E IR Wk S



Poxin =
FERNRE
TH4 | BRI ZERT X - sy E e ) T3
THRXSy « Lff - fEi5 Bz ¥ & & A i a1l % 7
B e = 84, 812, 444
W+ T =M 1 83, 129, 454
PRI L (ICT) m3 16, 800 81,961,560 |#EHI(ICT) 1 =
> A7 iy FEEME L 10, 000m3LL_E50, 000m
AT ;
EEll 1 2V
TR 47" /by b PP LM [EEEE 10, 000m3 L4 50
, 000m3ATiH ;
T wh S 1 =
+ab Cas EHRY +E&Te)
VA #EIE T (ICT) = 1 1,167,894 VLW (G)LH) (ICT) 1, 380 m2
VIS W R OWPE R
R T = 1 1, 174, 980
B+T = 1 1,174,980 |7+ A1) 410 m3
t=300 JEmETS ;
wr i) 2, 000 m3
£=300 i ;
g% T X 508, 010
AEEB T X 1 508, 010 | A2iM % B2 (iE 5 1 =
[ERERES 2V 1 84, 812, 444
ST e = 1 8, 148, 418
Bt = 1 1, 508, 418
s gy = 1 643,418 | fRESEAEER (ICT) 1 =Y
YATARI I (ICT) 1 =
BlGRIEUER (FE L) = 1 865, 000
— 1 —

ESR S S E IR Wk S



FNER

T4 | HI R ST M b i R e

THXSy - T - flj HOfr B & & fH # bl 2 g
il (RE L) v 6, 640, 000
TR = 92, 960, 862
B E R v 25, 294, 000
TRl = 118, 254, 862
—fRE % v 19, 825, 138
T ffik& = 138, 080, 000

ESR S S E IR Wk S




